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L—ZNo 1R 2R 3R 4R 5R 6R 7R 8R 9R 10R 11R we e
Sail No| E/H | F—L4 NEGE | S| NBGE |15 | NEGL |15 | IEGL |15 | BT |15 NEST |15 NER |1Sa | B |G| IEG (G| 1B (S| IB6 [Ba] 5| 1B
878 | H |=#EkEE 1 1 1 1 1 1 1 1 4 4 13 0 8 8 4 4|UFD 0 12] 12 10| 10| 42 1
821 | E [B.0.Y.Challange 14] 0 6] 6 10l 0 7 7 1 1 8| 8 5] 5 2] 2 10| 10 8| 8 8] 8| 55 2
836 | E [ 13] 0 15] 0 5] 5 5] 5 10] 10 5] 5 2l 2 1l 7 9 9 1] 11 4] 4] »58 3
825 | E |[E+& 5] 5 10 10 4]  4[DNS 0|DNS 22 1 1 1 1|{UFD 0 2] 2 1) 12] 12] 59 4
856 | H |=#FkiEE 2 2 2 2 2 2 15] 15 3 3 2 2 3 3 1 1/DNC 0|DNC 0|DNC 44| 74 5
853 | H |RFHELEHE 9] 9 8l 8 6] 6 2l 2 2[ 2|DNC 0[DNC 0[DNC 44 4 4 1 1 3[ 3] 79 6
777 | H [#F(F 6] 6 7] 7|DNF 29[(DNC 0|DNC 0 9 9 14| 14 8| 8 5] 5 6] 6 1 1] 85 7
845 | H |#3(F DNC 0|DNC 0|DNC 44 8| 8 8| 8 3] 3 4] 4 6] 6 3] 3 3] 3 6] 6/ 85 8
842 | E |&Ei 12] 12 9] 9 13] 13 6] 6 1l 7 10| 10 9] 9|UFD 0 1] 11 16] 0 13] 13[ 90 9
813 | H |HE A 10| 10 3] 3 8| 8 3]  3[DNS 22|DNC 0[DNC OIDNC | 44 71l 7 5] 5 2| 2 104 10
797 | H [=#EkEE 20 0 14] 14 21 0 9 9 11] 11 14| 14 16] 16 10| 10 13] 13 13] 13 5 5| 105] 11
848 | H |#3(F 8| 8 13 13 12] 12 16| 16 9] 9 6 6 7 7 3] 3[bNC 0|DNC 0|DNC 44| 118] 12
828 | E |[eAR A& 19] 19 19] 19 15| 15|DNC 0|DNC 0 4] 4 13] 13 9] 9 16| 16 17] 17 15] 15 127] 13
834 | E |®mZ 16| 16|/DNF 0|DNS 0 12] 12 5] 5 18] 18 12] 12 15] 15 15] 15 14| 14|DNF 221 129] 14
812 | H =W 22 0 18] 18 14| 14 19] 19 16] 16 21 21 1] 11 13] 13 12] 12 9] o9locs 0] 133 15
837 | E |Ei 1] 11 5] 5 7 7[DNS 22[DNS 22[DNC 0|DNC 0|DNC 44 8| 8 10| 10 9] of 138] 16
852 | H [=&43HIL 3] 3 4] 4 18] 18 4] 4 6] 6 12| 12|/DNS 24[DNS 24[DNC 0|DNC 0|DNC 44| 139| 17
749 | E [ilAg+—U>5 49357 2711 0 200 0 19] 19 10| 10 14] 14 20 20 17] 17 14] 14 18] 18 19] 19 17] 17 148] 18
782 | E [{REEREESE 26 0 24| 24|DNF 0 18] 18 15| 15 15| 15 10| 10 17] 17 17] 17 18] 18 16| 16| 150/ 19
860 | E (=T 23] 0 16] 16 17] 17 14| 14|DNF 0 17] 17 21 21 11] 11 19] 19 20 20 18] 18] 153] 20
643 | E [E+@& 18] 18 17] 17 16| 16 17] 17 12] 12 1] 11 6] 6|UFD 24[DNC 0|DNC 0|DNC 44| 165| 21
831 | H [RULY 15| 15[/DNS 29[DNS 29 11] 11|DNF 22 7 7 20 20 5| 5[DNC 0|DNC 0|DNC 44| 182| 22
880 | E [5>4—X 17] 17 23] 23 20{ 20|DNC 0|DNC 0|DNF 24 19] 19{UFD 24[DNS 22[DNF 22[DNS 22 193] 23
875 | E |E+8& 7 7 12] 12 3] 3[DNC 0|DNC 0|DNC 44|DNC 44|DNC 44 14] 14 15] 15 14] 14 197] 24
855 | H |mT% DNC 0|DNC 0|DNC 44|DNC 44|DNC 44 19] 19 15| 15[/DNS 24 1 1 7 7 71 7] 205| 25
805 | E |[E+8& 28| 28 22| 22|DNS 29[DNC 0|DNC 0|DNC 44|DNC 44|DNC 44 6 6 4] 4 11] 11 232| 26
790 | E |[==THEs DNC 0|DNC 0|DNC 44 13] 13 13] 13 16| 16 18] 18 16| 16{DNC 44|DNC 44|DNC 44| 252| 27
847 | E |{PEEEEE 21 21 11] 11 9 9|DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 305| 28
187 | H [=Zm= 4 4]0Cs 29 11| 11/DNC 0|DNC 0|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44| 308] 29
757 | H [37#DC DNC 0|DNC 0|DNC 44|DNC 44|DNC 44|DNS 24 22 22 12| 12{DNC 44|DNC 44|DNC 44| 322] 30
829 | E |#m 25 25 21 21 22| 22|DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 332| 31
851 | E |BAAERMM 24| 24|DNF 29 23| 23|DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 340| 32
745 | E [E+@& DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
804 | E |BAAEMM DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
808 | H |=#EkiEE DNC 0|DNC 0|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44|DNC 44| 396| 33
819 | H |[FTRE=E DNC 0/DNC 0|DNC 44[DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
822 | E [5v4—X DNC 0[DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
826 | H |=#eT% DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
840 | E |HhfT DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
841 | E (=T DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
846 | H |[2=>X DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
861 | H |WH DNC 0|DNC 0|DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44[DNC 44|DNC 44|DNC 44| 396| 33
876 | E [EM=H# DNC 0|DNC 0|DNC 44|DNC 44[DNC 44[DNC 44|DNC 44[DNC 44[DNC 44|DNC 44[DNC 44| 396| 33
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